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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2013
Part - II

PHILOSOPHY — GENERAL
Paper - 1I
( New and Old Syllabus )

Duration : 3 Hours | Maximum Marks : 100

The figures in the margin indicate full marks.

ATy AP sdner @res |

( NEW SYLLABUS )

GROUP - A
freim-=
Answer Question Nos. 1 & 2 and any two from the rest within 300 words each.

S AR 7R o 9k SR epafera e (A el it otR Baa wfefd woo =(twa se e |
Answer any five of the following questions within 2 sentences each 5x2=10
a) What is Experimental method ?

A RS FIF AA ?

b) Name the attributes of sensation.

c) What is perception ?
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d) What arc the factors of memory ?

Afoa Beiviaa R [ 2

c) What is stimulus ?
TR B 2
)] What is dream work ?

4GS @il A0 2
8) What are the different levels of mind according to Freud ?
FRICTA WS A3 [fen saaf e 2
h) What is the meaning of the term ‘Gestalt’ ?
‘PG = iba wief fo v
i) What is the difference between Introvert and Extrovert Personality ?

W3] ¢ AXAA) afeTga W sl e |

)] What is 1.Q. ?
Y% IS I ?
2. Answer any two of the following questions within 100 words each : 2x5=10

st eaefer st (e @ i 208 Sa Ffefd Yoo e Ty e 8

a) What is the difference between sensation and perception ?
LM @ EPRA] Y ANLE] e |

b) What is the distinction between Percept and Image ?
Sopmas ¢ Yioefsatera Sy Nde e |

c) What is the distinction between Subconscious and Unconscious mind ?
SACEeA 6 &R Tt AN @R |

d) What is ‘Information Processing’ theory of memory ?

s F=icF 6oy Mo’ vl & ¢
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Discuss Gestalt thecory of perception. 15
ASTH FWTH (0T TOIM SIFAG I |

What is meant by ‘factors of personality’ ? Is personality the product of heredity or of
environment or of both ? Discuss. 3+ 12

FFCY TAMA T 1 QAR 2 JfEY & a5 S sifara gL Torwg ARAfE 2 e
e« |

[Explain and examine Pavlov's conditional Reflex theory of learning. 15
Pt i ATEECSa Aiters wfeTS famarm A ¢ Rer
What is unconscious ? What are the proofs for the existence of unconscious ? 3 + 12

fFedia @4 @) ¢ efa $raa sferea o A 2

GROUP - B
feeial -
Answer Question Nos. 7 & 8 and any two from the rest within 300 words each.

q Ga? bR 2P IR SRR epsafer W (U carem it ek S ofSfE woo e W = |

Answer any five of the following questions within 2 sentences each 5x2=10
fasfafe emafer g (W T e et Sar afe g6 arerm Tt faa ¢
a) What arc the Purusarthas of human life ?

AFEA T 2a1e F F) 2

b) What is ‘Niskama karma' ?

fign . o o1t et

¢) What are the three Gems of Jaina Ethics ?
o faagaf F ) 2
d) What is Prarabdha karma ?

oG 3] BICP AT ?

e) What is meant by the eight fold path ?
w15 wisf qeTcs F @RI 2

0 What is meant by ‘Sila’ in Buddhism ?
T 7T N’ I F) @RM 2
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10.

11.

12.

g What is moral action ?
tAfes ferm wice At
h) What do you mean by Utilitarianism ?

S TI5RAM BICS A& 2

i) What is ethical hedonism ?
j) What are the postulates of Ethics ?
Answer any two of the following questions within 100 words each : 2x5=10

frvfafie emafe s (i cem ¥t eoie Seg afss oo =icam sty e 3

a) Explain Paradox of Hedonism.

b) Distinguish between motive and intention.

c) Write a note on Carvaka hedonism.

d) Show the distinction between Sakama karma and Niskama karma.

Give a short exposition of the Four Noble Truths preached by Gautama Buddha. 15
cNow Ja A1fFe 6gaR e AArd fRe@ed fua

Make a distinction between anuvrata and mahavrata. 15

Distinguish between voluntary and non-voluntary actions. Discuss different types of

non-voluntary actions with example. 5+ 10

What is Hedonism ? Explain its different types. 3+ 12

334 FeTCo 6 (AR ¢ [fSa e J2m =y I
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West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2013

PART - II

PHILOSOPHY — GENERAL
Paper - II1
( NEW & OLD SYLLABUS )
Duration : 3 Hours | | Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
TSR YYPIR] e oy &1 g |
ATy AT b UGERG S

( NEW SYLLABUS )
Group - A
feott -

Answer Question Nos. 1 & 2 compulsorily and any two from the rest within 300 words each.
17 g2 & R $ga SRFE® Q38 SRR efrafera T (3t (@ (@ b ot a3 effeflb woo *rtara wm W1
1. Answer any five questions ( within two sentences each ) : Sx2=10
@ (@I +tefe 9R BeR fam (oSl Tex it IR T fics 2@ )

a) What are meant by Sapaksa and Vipaksa ?
Aore AR Ror® IeS & @R 2

b) Identify the Sadhya, Paksa and Hetu of the following inference :
"“The moon is hot, because it has a name."

e aqamibe s, o g3z @y Fef s
“rE Ol ARY aft wfeww |1

c) What are the constituents of Paramarsa ?
RN T 3 [ & 2@ 2
d) Distinguish between Samavyapti and Asamavyapti.

NN Gae AFANRANTST Ty 2A1LPT 0l |
e) Who is the author of Nyaya Sutra ?
T @ TR I (F 2

[F-133 ]



PHIG(GEN)-03 98

f) Give an example of Kevala-Vyatireki anumiti.
@A Tfifen aafh Swrzae e |

g) Give suitable example of Purvavat and Sesavat Anumana.
S[4R @R CTFIR AT GO @ wBRg e |

h) What is the meaning of ‘Naya' in Jaina Philosophy ?
[l (RO ST A LA T

i) What is Svarthanumana ?
HL I ACT 2

1) What do you mean by Vyabhicara ?
ayfebR 100 6 (e 2

2. Write short notes on any two within 100 words each : 2x5=10

@ W qfo7 Torg &b Yoo *tara Fowy SiFRE B feryw

a) Relation between anumiti and vyaptijnana
L (RISROE RISt a e i beaid
b) Paramarsa according to Nyaya school
WANCS v
c) Jaina Saptabhangi Naya
oI AGGR T
d)  The function of each of the avayavas of Pararthanumana.
SRR ofof TRuEd @R |
3. Define Vyapti with example. Classify Vyapti. Explain how Vyapti is known according to
Nyaya philosophy. 4+2+9
TurRAePTR ST A e | Afss ermracen B | e anfd o e I o Qnn w
9. Explain with suitable examples Kevalanvayi, Kevalavyatireki and Anvayavyatireki
inferences. 5+5+5

@R, (- @R TFA-FfOoRP S Torye SarRIerIR AN I |
S. Critically explain Jaina Shyadvada.
& HM@AM RET AR FEA |

6. Explain the definition of anumiti. What is the karana of anumiti ? In this context,
explain the nature of Paksadharmatajfiana. 8+2+5

wAfifon e A a9 | Saffor IR 6 2 @B o5 *FHYsOET FEe! A FHA |
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Group - B
fetet — 9

Answer Question Nos. 7 8& 8 compulsorily and any two from the rest.

7 72 @ 8 T2 o WS @I WY eraferd W (V. (v W B omR Sed A

Answer any five questions : 5x2=10

(¥ @MW “itefo o T W= :

a)

b)

c)

d)

g

h)

Not any guest stayed for dinner. Give the logical form of this sentence.
@ Y BGE (TIteltem Wy e | — e feRemTas @ fam |
Is simple conversion of A proposition possible ?

A IER TRA-IRE H& 6 2

Fill in the blank :

The subject of the convertend will be the ................ of the converse.
AR O3 I
QRO BN FRATOTOR oo 2R |

“Nothing is both round and square.” Give the logical form of this statement and
state which term is distributed.

(@ PR Ferte (eI @ oMY Z0S oI A1 Aerid e Reerrare @et i @3k (oW
TS Mol LR O T |

Express in Boolean notations and draw Venn diagram :
"Some non-philosophers are not non-poets.”

Y AT e 3w G (SAbE (I ¢

P (@ e §T -l

Give an example of an argument which commits the fallacy of illicit major.
WY AGETE 58 a3 Yaa Turzae e |

Use truth-table to define the logical connective 'v .

AP Al (NS (@16 v a3 e e |

Symbolize the following :
p if and only if q.

OIS T2
p, I @32 @ W g
What are the names of valid moods.of syllogism in first figure ?

AR e AL (34 Joaform aw f 2
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j) If p is false, then determine the truth-value of (pv ~ p)vr.
I p fem =8, ORE (pv ~ p)v r-aF FGET RS I |

8. Write short notes on any two : 2x5=10
a) Material obversion
LICRICRE NG|
b) Existential fallacy
SFTE 71
c) Boolean interpretation of categorical syllogism

d) Opposition of proposition.

HEI e |
9. Test the validity of the following syllogisms or syllogistic forms by means of Venn
diagram ( any three). 3x5=15

(vt AR Feffe A @ amerelr @rwl R I (@ F fow o)

a) EAO-1

b) AAA -2

c) Children are always cowards, but not always liars, therefore liars are not always
cowards.

d) No Republicans are Democrats; so some Democrats are wealthy men, since some

wealthy men are not Republicans.
FTTORIATR 1Mo T odit g sowd 4, I3 Py 4 eored 737
10. Test the validity of the following with the help of truth table ( any three) : 3x5=15
ASPIRAR AR [R¥@ R 397 ( @ @R foaft )

a) (AvB)o(A.B)
AB/..AvB
b) OvP
O/.~P
c) (GVH)oI

IS(G.H)/ . (GvH)>(G.H)



11.

12.
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d) If reservation for the lower caste is effective then there will be either social
progress or social imbalance. There is no social imbalance. So if there is social
progress then reservation for the lower caste is not effective.

It ARl @ s1ease IR PILRAT TU OTE T ANCGTH WIS FW@ TN NS SIHT
M8 2@ AW o 98 33 1 Swge I swree Sesife 33 o Wl ee

AT g BIASA 27 AL
What do you mean by distribution of terms ? Explain and illustrate it with the help of
categorical proposition. 15

A oMl I [F @IQRN 2 Wqors IvET T AR AoToR aweid Swigger=mns ann

A

Explain and examine Mill's method of Difference. 15

feTa wifeEmd orafe Fm 8 [ e



